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Fluency & precision 4NC objective: Multiply two-digit numbers by a one-digit number using formal written layout

Answer the multiplication questions.
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There are 22 cartons of drink in each box. 
How many drinks are there in 3 boxes?
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Use this method to solve 
36 x 5
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(3 x 20)

There are 31 flowers in one cart.
How many flowers are there in 2 carts?

Use this method to solve 
38 x 3
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Use place value counters to calculate 5 x 24.
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Use this method to solve 
47 x 3

Use place value counters to calculate 4 x 43.
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Use this method to solve 
56 x 2


